Solution of the day/ September - 11, 2019
6" Class

Mathematics: Ans : (D)

3i{1§ {21_[13_%_37 [Zﬁ}ﬂ_ﬂ:
12 |74 |2 U2 3 12 |4 6] 12 12

Physics: Ans: (C)

Chemistry: Ans: (D)

Biology: Ans: (B)

7" Class

Mathematics : Ans: (B)

Xy X+y 1 1 1 1
X+Yy Xy a X y a
Similarly, £+1=1 and 1 lzi
y z ¢ Z X 6

1 1 1 1 1 1 1 1 2 1 1 1

+ t—t—= +—+ +
y z 2a 2b 2c Xx 2a 2b 2c 2c 2a 2b 2c

1 bc+ca-ab 2abc
=>"=""_ " o x=—""""
X 2abc bc+ca-ab

Physics: Ans: (C)
Chemistry: Ans: (D)
Biology: Ans: (D)

8" class

Mathematics: Ans: (C)

1 1

X =33 = 33 (3*)12 = (81)12
1 1

Y=4Y4-= 44 (43)12 = (64)12 | X > Y > Z
1 1

z=%6= 66 (6%)12 = (36)12

Physics: Ans : (D)

Chemistry: Ans: (B)

10 volume solution ofH,0; is C)035% solution i.e, C)035 g of H,0, is present in 100ml of the solution.
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Biology: Ans: (B)
9™ Class

Mathematics : Ans : (A)

OABCD is square and OPQRS is also a square.

=P, Q, R, S are mid-points of AB, BC, CD, DA
2

AreadPQRS (X\E) 2x% 1

= > >=-=1:2
AreaoABCD (2x) 4x 2

Physics: Ans : (C)
Chemistry: Ans: (D)

Biology: Ans: (A)
10" class

Mathematics: Ans : (D)

sin®; +sin®, +sinf; =3

= sinB; =sinB, =sinb3 =1

=0, =0, =05 =90°

cos 6, +cos 6, +cos0; =cos90°+c0s90°+c0s90°=0+0+0=0
Physics: Ans: (B)

Chemistry: Ans: (C)

Biology: Ans: (C)

Reasoning : Ans: (C)



